PRACTICE PAPER-6

SOCIAL SCIENCE
Total Questions-47 Class-10 Subject Code-85E
Time-3 hour Max Marks-80

Four alternatives are given for each of the following questions / incomplete
statements. Only one of them is correct or most appropriate. Choose the
correct alternative and write the complete answer along with its letter of

alphabet in your answer booklet. 10x1=10
1. Montague argued in favor of providing a responsible government for the Indians. As a result in
India

A) A separate electorate college was created in India based on the religion.
B) Indian Council Act-1919 was implemented
C) Diarchy was allowed at the center

D) In 1947, it was promised to give freedom to India

2. The methods used by the Moderates to fulfill their demands were

A) Strike and protest
B) Noncooperation and protest
C) Prayer and protest

D) Prayer and requests
3. The reason for Russia entered an agreement with Germany to stop the war during First World

war was

A) A social revolution was occurrence in Russia.
B) Russia joined with Germany
C) Russia was defeated by Italy in the war

D) America entered in the war

4. In order to eradicate unemployment problem in India,

A) Primary education must be universalized
B) The wealth of the nation should be nationalized
C) Unemployment allowance should be give all unemployed

D) Quality technical education should be give
5. India as a progressive country claims that which of the following factors are needed between

the countries of world family are

A) Social justice and self-reliance
B) Religious justice and Secularism
C) Economic justice and equality

D) Social justice and dependence
6. By calling the helpline number 1098 recently started by Karnataka Government can be

complained about which of the following case

A) Corruption found in government offices
B) Sexual harassment on women
C) Harassment on children

D) Untouchability cases

7. During winter season the temperature decreases in India. Because
A) The Sun’s rays fall vertically over the Northern Hemisphere

B) The Sun’s rays fall vertically over the Southern Hemisphere

C) The Sun’s rays fall vertically over the Equator
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D) The Sun’s rays fall vertically over the Tropic Capricorn
8. Identify the correct pair of east flowing rivers in South India.

A) Ganga, Sharavathi, Krishna, Kaveri

B) Mahanadi, Godavari, Krishna, Kaveri

C) Kali, Godavari, Krishna, Netravathi

D) Mahanadi, Sindhu, Krishna, Brahmaputra

9. Which of the following statement indicates the real meaning of the rural development.

A) Providing administrative power and the responsibility of the villages to people of the villages
B) Organizing women and make them financially independent

C) To achieve economic and social upliftment of rural areas

D) Establishing large scale industries in rural areas

10. Which of the following factor decrease the transportation cost due to globalization.
A) Adaptation of container service
B) Removal of import and export taxes
C) Elimination of control over capital
D) Creation of incentives
Answer the following questions in a sentence each. 14x1=14
11. What was the reason for the revolt of Bedas of Hulagali against the British?
12.Annie Besant was called as “Shwetha Saraswathi”. Why?
13.What was the main aim of Shri Narayana Guru paripalana Yogam?
14.How did Inam commission suffer farmers?
15.How did the British government suppress the revolutionaries?
16.1948 December 10 is an important day in the human history. Why?
17.What is the reason for the distribution of food grains through the public distribution system in
Karnataka?
18.What does social inequality indicates?
19.Which are the two branches of South-West monsoon winds?
20.What is cropping pattern?
21.In India horticulture provides an incentive for making agriculture more profitable. How?
22.What is coastal erosion?
23.In developing countries like India, the governments generally prepare deficit budget. Why?
24.Globalization decreases the cost of goods. How?
Answer the following questions in TWO or THREE sentences each. 15x2=30
25. What are the causes and results of the 34 Anglo-Mysore war?
OR
What does dual government mean?
26.What were the conditions of Subsidiary Alliance?
27.What are the administrative cause for 1857 revolt?
28.How did Jammu Kashmir merge with Indian Union?
29.What are the effects of the Second World War?
30.What are the main objectives of Indian foreign policy?
31.“The relationship between India and China has historical background”. Justify.
32.The reformations implemented by Devaraja Urs led to revolutionary changes in society. How?
33.Mention the differences between Western and Eastern coastal plains?
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34.What are the reasons for variety of vegetation found in India?

35.What are the remedial measures that can be taken to overcome power shortage in India?
36.The Communication Medias played an important role in the development of a country. How?
37.How do you say that population explosion leads to create many problems?
38.“Development is a process”. Explain.

39.How does the Consumer Protection Act protect consumers’ interests?

Answer the following questions in 5 to 6 sentences each. 6x3=18
40. “Permanent Zamindari system made the Indian farmers born in debt, lived in debt and died in
debt”. Justify the statement.
OR
How did Hyder Ali come to power in Mysore?
41.Mention the remedial measures to curb corruption.
OR
What are the main aims of Common wealth of nations?
42.What are the main features of Social stratification.
OR
What are the rules that should be followed to start the business in the organized sector?
43.What are the factors influence the location of iron and steel industries?
OR
What are the causes and results of coastal erosion?
44.“The Reserve bank of India works as a Government Bank”. Justify
OR
The public finance played an important role in the economic development of a country. How?
45.45. List out the services offered by the banks.

OR
Name the entrepreneurship promotional institutions in India.
Answer the following question in 8 to 10 sentences each. 1x4=4
46.Describe the struggle of Ambedkar to eradicate untouchability.
47. Draw a neat outline map of India and mark the following. 1+3=4

A) Palk Strait
B) Kempegowda International Airport
C) C) Mahanadi
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